Combo Sudoku Competition

SUD
O KU Solution — published 2 September 2009
6/8/5(9/2/3|4|7]|1 8/4/6/2|7|5|1/3|9
9/3/4(7|/1/6|2|5|8 7/1/9(8|4/3|6/5|2
712/118/4/5]19|3|6 3/5(116/2/9|8|7 4
3/7/915/8(2]|1|6|4 6|7(2/5[9(1]13/4|8
416/8(3|7|1]5/2|9 412/8(1|3[7/5/96
5/1/2(6/9]/4]|3/8|7 9/3/5|4|6|/8 721
2/9/3[(1/6|7|8(4|5|1/7/6[(2]/9|3|7/8|6|4([1|5
114/6|2|/5(8|7]|9|3(2|5/8|1(6[4|3|5/2(9|8|7
8/5/7[4/3/9|6/1]/2|4/9/3|5/8|7|9/1][4/2]63
11291647835
5/3/6|8/1]/9]4]7]|2
418/713[2/5|9|1|6
3/6/9(5/4(1]12(7/8]9/6/4[3|5|1]2/8[4]|9|7|6
2/1/8(3|/6/7|9(5/4]|7/3|/1[(6]|2|8[|1/9|7]|5[4]|3
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Puzzle by websudoku.com
How to solve: The center is a standard 9x9 Sudoku. Two outer puzzles are Sudoku-X, with no repeats in the
shaded diagonals. The two other puzzles are Squiggly Sudoku, with irregular shapes instead of 3x3 boxes.
Below are the colored cells from the solution — these are what you needed to enter the draw!
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41| 7| | 6] | 3| [ 4

To see the list of winners, visit: www.websudoku.com/comp




